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1. AIciiertdicdl ‘IR DIVI? [ Find the number ‘seventy’ in
digit? | DD
(1) Wo[70] @ V[17] @ w][7] 4) ow|[ 07 ]

2. ¢ I Yol JRT pIvl? [ Find the next number of 18? |

1) V[17] @ 2 [19] (8 <0[90] @ ¢o[80]

3. UIcileiddbl DIvIeAl WRIRIA Hal bl siiea? [ Which figure in-

cludes ’six’ pictures? | DB
1D D DD D RR IR IR CIROR
(3) BDDDD (4) Y v Y 3k de ek ek
4. dicl AT AXRIA Gl fbddl siaa? [ Find the tens in
fourteen ? | DORBW
(1) ¥[4] 2 ¢ [14] ©® 2 [1] 4) o[ O]
5.6-£=7[8-6=] DR
1w [7] 2 ©[5] 3 3[3] 4) ”R[2]
6.+9=2[9 + 5=?] D@D

(1) 3[13] @2 29 [95] B W [15] @ 2g¥][14]
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10.

11.

12.

2R slciatelicT ¢ siicer Beear aR fobdl siican 33dler? [ 5 marbles
are broken, from 12 marbles then how many marbles will

remain ? ] O2R@
(1) ¢[8] 2 9[7] @ W[17] @ <[9]

. Aictlerddbl Jaid g IRl IR forast. [ Find the biggest

number in given option. ] DB
(1) WR[72] @ we[D6] 1) W [28] @) 30[30]

LU 40yl

QI% | o |¥| 9| ¢|3|R
9/1/0 /4|5 8|3 2

. @31 Fvid for3ieiur ol fdbdeeIr dmmaz o &l Jceln feifactt siue o

il [ Observe the arrows and find the place of arrow

on which O is written? | DB
(1) die=a [ forth | (2) g3 [ second ]

3) feR—=ar [ third | (4) urce=a [ fifth |

¥ 30T ¢ BGI dIULBol DIVICRIT Glol IAXRIT doldiiel? [ Write the two
numbers using 4 and 8 only once? ] L@

(1) ¥o 3MMUry¢ [ 40 and 48 |
(2) ¢¥ 3MUT¥ [ 84 and 49 |
(3) ¢¥ 3MMUrye [ 84 and 33 |

4) ¥e3murye [ 41 and 48 |

Helctl IR 181 ¢, ....,¢¥ [ Find the middle number. 82,
84 ] D@

(1) ¢9[85] (2 ¢3[83] @) ¢2[81] @ ¢o[80]
AlDCIA Ale=I AT f18T: T, A, s8Iy, | [ Fill the brack-

et: thirty six, thirty seven, thirty eight, || ] L@
(1) BDIUIART [ twenty nine | (2) udl [ thirty five ]
(8) &ciiA [ thirty two ] (4) UDIUIBIA [ thirty nine ]
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13

14.

15.

16.

17.

19.

2 31T @ AT 3IPIURIo] AIGIIT ISl 3T dotdl. [ Make biggest
number by using 2 and 5? ] L@
()R [25] (2 9ve[55] B WR[D2] @ W[22]

SR £2 ALK & GIID d ¢ BDD 3RAcdIcT AR ¢ AL GIID fdbedl smae?
[ If 6 tens and 1 units are in number 61 then how many

tens are in number 827? ] D@
1) ¢ [ 8] 2 I[2] 3) ¢o[80] @ R0[20]

2 URIo! Al d & di e dlvidl A d fetal. [ Find sixth number
from 17? ] DRB@D

(1) RL[22] (@ 2W3[23] BB [W [24] @ Q[21]

HIcticTidb! DIV AR I3ST 2V Aser? [ Which addition will
give answer 17? | D2B@D

(1) W+9 [7+ 7] 2 +<¢ [9+ 8]

3 9+20 [5+10] 4 W+[7+9]
DIV IRIA 2 frwacd a2 3R ¢3 Ase? [ In which number
after adding 2, answer will be 137 ] DR

(1) 20[10] @ 29 [15] 3B 2¢2[11] @ 23[13]

18. I AIDIGII 3iS]ol ¥ dsd K DIGCARA TR=IIR
BIVI=AT {1 AT UM hHID 29Il [ Selec-
t the correct option after drawing 4

balls in adjacent box. ] LRBW
QOO 0y

® O QOO QOO

. 2 000 000 |, 0@

AIcticTU bl DIVIRIT AR aoldIchl ¥ A5e1? [ Which subtraction
will give answer 4? ] D2B@

(1) ¥-¥[4-4] 2) 3+¢[3+1]

O
@

Q0
=)

000
000
SR

B) £€-2[6-2] 4 ¢-9[8-5]
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20.

21.

22.

23.

24.

25.

11 FHCTUSII Icfl ST 38, SI2 dolld Q@ JIct 3RdlcT 2 dcil
forf&rerqul fooedl srRireared? [ In classroom girls are more than
boys. If boys are 29, then the girls will be ? | DB

(1) 3R[32] (2 W [25] 3 W[28] @ W[27]

U] [STGRIICTT €3 URRRI 3&d. SR dwol © URIRIT 3dwol 3IIcl A2
ATl 31SIol fobddt U= SARIca efeIdlcT? [ A staircase have 13
steps, Sanjay step down 5 steps then how many steps

remains to step down? | D2B@W
M ¢[8] 2) ¢ [18] 3 ¢[9] 4) 9[7]

iciicl s castetict doral st oitern. [ Find the odd man out
in given figure. ] D2B@D

(1) D (2) O (3) @ (4) A

gaicl coalol AUIRT 3t fcicar dlalolld @iel [ Draw the next

figure in given rectangle. |

[ P I

AdIciiel Uol HISl d 3ipId {18l [ Count the pens and write in
numbers. |

/ / / / /
/////

876 | (i (& E[[(‘)i 3ol d 318RIdA fo1al. [ Count the leaves and write it
in word.

MMMMMMM
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